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Instructions :

(i)  All questions in both the sections are compulsory.

(ii)  Marks for questions are indicated against each question.

(iii) Question No. 1 — 5 and 16 — 20 are very short answer
questions carrying 1 mark each. They are required to be
answered in one sentence.

(iv)  Question No. 6 —8 and 21 — 23 are short answer questions
carrying 3 marks each. Answers to them should not normally
exceed 60 words each.
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(v)  Question No. 9 — 11 and 24 — 26 are also short answer

questions carrying 4 marks each. Answers to them should not

normally exceed 70 words each.

(vi)  Question No. 12 —15 and 27 — 30 are long answer questions

carrying 6 marks each. Answers to them should not normally

exceed 100 words each.

(vii) Answers should be brief and to the point and the above word

limit be adhered to as far as possible.

Qug — A
Section - A

1. = fafy g o S W T awg i B SeeEr © | gueht hind ged
W : (T foeked giu) 1
31) 38 W fohT ¢ = | RS qfterd L B |
&) 39 9T Toran T = 9e |
) 38 R T e =2 = |
T) IWIH § T S o |

(
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(
(

The demand of a commodity when measured through the
expenditure approach is inelastic. A fall in its price will result in :

(choose the correct alternative)

(a) no change in expenditure on it.
(b) increase in expenditure on it.
(c) decrease in expenditure on it.
(d) any one of the above.
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2. S-S UH A A SR godt die [ A 9% wEgn o1d ¥ 37 Tord
&, T 6 SHmd o - (T fere gio)

(a1) ferR it ?
() vt st 2
(®) et STt 2
(3) 3% | firet 2, o weht 2

As we move along a downward sloping straight line demand curve
from left to right, price elasticity of demand : (choose the correct
alternative)

(a) remains unchanged

(b) goes on falling

(c) goes on rising

(d) falls initially then rises

3. TSR /i hl gieamsT S |

Define market demand.

4. 3fiEd Gt (1) TR HHT T SRR 8 ¢ : (T fohew gfo)

(37) hadt qui SfIfTar o T=d

(&) haet TTTTHRIeH SfcRNTiTdT o 1=
(W) haet THITEHR o =i
(

2) gt TR & oI |
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Average revenue and price are always equal under : (choose the

correct alternative)

(a) perfect competition only
(b) monopolistic competition only
(c) monopoly only

(d) all market forms

5.  ITUTIeRR <l whTs Ush TaRIsar oIdmsy | 1

State any one feature of oligopoly.

6. UMY I T GHiE dvme # He hifsi | 3

Distinguish between microeconomics and macroeconomics.

7. 3TEH GHTEHT ST (aF) o 31ef 37 famivaTd sramsu | 3

State the meaning and properties of production possibilities

frontier.

8. IUAIAIaT foveryu it Terar @ fe@msu fof e axg i 7 IR 3HhH
#Fima # fawiia grsry ST € | gwesT | 3

HAAT

STIH Ik h1 @7 SRUTTcHeh 41 Bidl & ¢ gHesU |
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10.

Show that demand of a commodity is inversely related to its price.

Explain with the help of utility analysis.

Or

Why is an indifference curve negatively sloped ? Explain.

SARME T oy o T=via IUHRAT o Hqo ohl Tl shl SATEA
it |

Explain the conditions of consumer’s equilibrium under

indifference curve approach.

%ol 3G o YR W IHEd] Igamai o 1w & fafia =xor samsu |
@ S YA I |

AT

gfd <l shma A "qoE Y sartafaes faftr smenee | et @ g
T |

State different phases of the law of variable proportions on the

basis of total product. Use diagram.

Or

Explain the geometric method of measuring price elasticity of

supply. Use diagram.

FhEdm afernfefat & ToTg Tom €t 10 & & W
TRl ST oh oM o T3 =207 Uah qtfctent hi TeTIdaT ¥ aisy |
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3AYAT
g i e SR o o0 T A R i i e

For blind candidates in lieu of Q. No. 10.

State different phases of the law of variable proportions with the
help of a schedule.
Or

Explain the distinction between ‘change in supply’ and ‘change in

quantity supplied.’

11. THITIhRIcHE Tf=fiar st “&af o et gaer oK afgrima’ fowivdar &
giumHT st smEa hHifsu | 4

Explain the ‘free entry and exit of firms’ feature of monopolistic

competition.

12. 9%q X it $Wd 59 10 fawd wedt & @1 @A AT 150 T W
SGL 180 SRS B STl 2 | SEeh! T hl shiFd il hl UTehald ShifST |
3gh! shid forae gfaerd =1 for g@ehl /I 150 SRS & 210 TS &
Sq ? 6

When price of a commodity X falls by 10 per cent, its demand rises
from 150 units to 180 units. Calculate its price elasticity of
demand. How much should be the percentage fall in its price so

that its demand rises from 150 to 210 units ?
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13.

FrfTRad dTfeteRt shi 1 ShISTT :

IS | A AT | 3 IREd AT | ST AT | Sfted fRR A
(zF=a) | (%) (®.) (®.) (®.)
0 30
1 --- --- 20 ---
2 68 --- --- ---
3 84 18 - -
4 --- --- 18 ---
5 125 19 —- 6
Complete the following table :
Output | Total | Average variable | Marginal | Average fixed
units cost cost cost cost
Rs. Rs. Rs. Rs.
0 30
1 20
2 68 - - -
3 84 18 --- ---
4 --- --- 18 ---
5 125 19 --- 6
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14. &Y %] X ol Tfcwemae &g 8 | 'Y shl hiFd = STl 8 | 59 qieae
R X o FISTR B B dTe] TATET hl 5@ hl ST ShifsT | 6

AT

T a%g o id AT shl 3Gl Ggar shivd W INTEl Sl J@a i
T HIfT |

Good Y is a substitute of good X. The price of Y falls. Explain the
chain of effects of this change in the market of X.

Or

Explain the chain of effects of excess supply of a good on its

equilibrium price.

15. Tk ®H o 3cd1E shl AN dlfetert A1 &1 Tt @ | 3cTed o aft Ta0 o
3IcqTE hl Ui SohTs SIS shidd 12 %. ® | ST drTg TR HHa 9w
(emm) fafyr & dqer 3cate &1 TR F1a RINT | 799 W o SR

ifory : 6
3ITE (3915) 1 2 3 4 5 6
3Tad T (%) 12 | 11 | 10 | 10 | 104 | 11

Given below is the cost schedule of a product produced by a
firm. The market price per unit of the product at all levels of
output is Rs. 12. Using marginal cost and marginal revenue
approach, find out the level of equilibrium output. Give reasons

for your answer :

Output (Units) 1 2 3 4 5 6

Average Cost (Rs.) 12 11 10 10 10.4 11
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Section - B

16. SIS SRl 1 I FA SIS AT ST TG ARATT TS e o 918
@1 BT & 39 : (TR faehed giw)

(37) Tifaferk aXeran ST Fed §

(S7) ST STUTT Fed &
(|) IRd Tohg T
(3) darier Y T

The ratio of total deposits that a commercial bank has to keep with

Reserve Bank of India is called : (choose the correct alternative)

(a) Statutory liquidity ratio
(b) Deposit ratio
(c) Cash reserve ratio

(d) Legal reserve ratio

17. |9 917 1 TG ST Tehdl § : (Fe fashew giaw)
(31) Sieh T TR

(9) AT Rt ook g1 TEhRT Tffaar st

(|) Tohe I AT TGTH

() STk | fereft o g el
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Aggregate demand can be increased by : (choose the correct

alternative)

(a) increasing bank rate
(b) selling government securities by Reserve Bank of India
(c) increasing cash reserve ratio

(d) none of the above

18. 3Tk SUSTIRY o1 379 FdTEY | 1

Give the meaning of involuntary unemployment.

19. TTrfeh ST T BT 7 1
What is primary deficit ?
20. YT HgeH I 37 FAmET | 1

Give the meaning of balance of payments.

21. if<g FEgeti 3R Aedad! axqeli § 98 HINU| Td® 1 TH-TH
3aTET ST | 3

Distinguish between final goods and intermediate goods. Give an

example of each.

22. Z1 o oI ToF 1 GHSST | 3

HAYAT

HST 3ATY[d o1 379 TR 3ok TIh FaTT |
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23.

24.

25.

Explain the store of value function of money.

Or

State the meaning and components of money supply.

A T T TR AT HU T Fffehd A T ST AT | ISTEL0T
31T |

Explain the basis of classifying taxes into direct and indirect tax.

Give examples.

s Sk TN o1 Skt oh R ohl SIREAT shifSTT |

AT
HET AT o e § fag W X (i geiE &) i fien i sme
i |

Explain ‘banker to the government’ function of the central
bank.
Or

Explain the role of reverse repo rate in controlling money

supply.

HAATEY ol Toh R TR SIsTe 3T forawor snt geTferd o gehdn 2 7

Explain how government budget can be used to influence

distribution of income ?
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26. TH ASITEYT dged § © | 396 IR H QU MU Frefafad eRel 9@
TR IUHIT 1 Uiehetd ShifsTT | 4

(i) &R =15000
(i) HaT= s ggfd = 0.2
(iii) e =33 = 800

An economy is in equilibrium. From the following data about an

economy calculate autonomous consumption.

(1) Income = 5000
(i1) Marginal propensity to save = 0.2

(i11) Investment expenditure = 800

27. facsft ga1 6t hmd sed W 3HR 9 F=A Tt 2 37 gfd o Fed) ? 7
TR | 6

Why does the demand for foreign currency fall and supply rises

when its price rises ? Explain.

28. I o oAV o G o € § Gohdl Q1A 3cA1G i IR-Hifseh foafme’
T <Al ST iy | 6
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AT

[ N NI e

I o BT UG T IR hld THY ARG o T19 91 FaER
Al ? 37U I o forw e difse

(37) 331 o oo <t Tareen & sRaTeAt g SAfSa @y
(&) TS grn st st Tadsan fied W U e 3usr
(\) foesht weieent gra @it T aEE

Explain ‘non-monetary exchanges’ as a limitation of using gross

domestic product as an index of welfare of a country.

Or

How will you treat the following while estimating domestic

product of a country ? Give reasons for your answer :

(a) Profits earned by branches of country’s bank in other

countries

(b) Gifts given by an employer to his employees on independence

day

(¢) Purchase of goods by foreign tourists
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29. () S AT R Had <3 3ca1E T (@) Tt UL TS AT

RICREEAIE g
(. el H)
() | Tht eaf<m 39 == 8000
(i) | =Rt A= 3us = 1000
(iii) |t 70
(v) |smma 120
(V) | 3T ST 1 3UAM 60
(vi) | Terat 3ufi o=t gsht fmfor 500
(vii) | Tef § afada 100
(viii) | fereeti shi Tk ma 40
(ix) | focsm @ e 3™ 90
(x) | STIcTeT T 700
(xi) | emifofer W 50
(xii) | forqwti =l Fiaa =me] gwdra (-) 30
58/1/1 15
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Calculate (a) net domestic product at factor cost and (b) gross

national disposable income :

Rs. in crores
(1) Private final consumption expenditure 8000
(i1) | Government final consumption expenditure 1000
(i11) | Exports 70
(iv) | Imports 120
(v) | Consumption of fixed capital 60
(vi) | Gross domestic fixed capital formation 500
(vii) | Change in stock 100
(viil) | Factor income to abroad 40
(ix) | Factor income from abroad 90
(x) | Indirect taxes 700
(xi) | Subsidies 50
(xi1) | Net current transfers to abroad (-) 30

30. T fifsre fo fast & gfg 1000 Fie &, © 3R Huid 3udn ¥gf 0.9
2, 1 Tk it ik THEET |

Assuming that increase in investment is Rs. 1000 crore and
marginal propensity to consume is 0.9, explain the working of

multiplier.
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